KHARUPETIA COLLEGE

Kharupetia, Darrang, Assam- 784115 E-mail:kharupetiacollege@gmail.com Website: www.kharupetiacollege.ac.in



THIRD CYCLE NAAC ACCREDITATION

CRITERION 5 –STUDENT SUPPORT AND PROGRESSION

5.2: STUDENT PROGRESSION

- 5.2.1: Percentage of placement of outgoing students and students progressing to higher education during the last five years
- 5.2.1.1: Number of outgoing students placed and / or progressed to higher education year wise during the last five years
- 5.2.1.2: Number of outgoing students year wise during the last five years

Submitted to



THE NATIONAL ASSESMENT AND ACCREDITATION COUNCIL

- **5.2.1:** Percentage of placement of outgoing students and students progressing to higher education during the last five years
- 5.2.1.1: Number of outgoing students placed and / or progressed to higher education year wise during the last five years
- 5.2.1.2: Number of outgoing students year wise during the last five years

INDEX OF DOCUMENTS

Metric No.	Particulars of Documents
5.2.1	Other relevant document to support the claim (Sample)



ETIACOL









Date: 05-09-2022

GOPINATII BARDOLOI NAGAR, GUWAHATI - 781014, ASSAM : INDIA

B.COM (HONS) FINAL SEMESTER EXAMINATION - 2022 (Choice Based Credit System)

CONSOLIDATED GRADE SHEET

NAME :	HAZRAT ALI	COLLEGE: KHARUPETIA COLLEGE					
ROLL NO. :	UC-191-248-0049	Regi	stration No.: 19080	486			
SEMESTER-2	PAPERS OFFERED			PC	GO	GP	CP
	BUSINESS COMMUNICATION(ASSAMESE) - BCMA-AE-1014			4	В	6	24
	FINANCIAL ACCOUNTING - COM-HC-101	16		6	В	6	36
ROLL NO. : SEMESTER-1 SEMESTER-2 SEMESTER-3 SEMESTER-4	BUSINESS LAW - COM-HC-1026			6	^	8	48
	MICRO ECONOMICS - COM-HG-1016			6	В	6	36
	SGPA: 6.55		SEMESTER TOTAL	22			144
EMESTER-3	PAPERS OFFERED			PC	GO	GP	CP
	CORPORATE ACCOUNTING - COM-HC-2	2016		6	В	6	36
	CORPORATE LAWS - COM-HC-2026			6	Α	8	48
ROLL NO. ; SEMESTER-1 SEMESTER-2 SEMESTER-3 SEMESTER-4	MACRO ECONOMICS - COM-HG-2016			6	В	6	36
	ENVIRONMENTAL STUDIES - ENV-AE-20	014		4	В	6	24
	SGPA: 6.55		SEMESTER TOTAL	22			144
SEMESTER-3	PAPERS OFFERED			PC	GO	GP	CP
	COMPUTER APPLICATIONS IN BUSINESS - COM-HC-3016			6	Α	8	48
SEMESTER-4	INCOME-TAX LAW AND PRACTICE - COM-HC-3026			6	0	10	60
	MANAGEMENT PRINCIPLES AND APPLICATIONS - COM-HC-3036			6	0	10	60
	BUSINESS STATISTICS - COM-HG-3016			6	B+	7	42
	ENTREPRENEURSHIP - COM-SE-3014			4	A+	9	36
	SGPA: 8.79		SEMESTER TOTAL	28			246
SEMESTER-4	PAPERS OFFERED			PC	GO	GP	CP
	COST ACCOUNTING - COM-HC-4016			6	A+	9	54
	BUSINESS MATHEMATICS - COM-HC-4026			6	A+	9	54
	HUMAN RESOURCE MANAGEMENT - COM-HC-4036			6	A+	9	54
		INDIAN ECONOMY - COM-HG-4016			0	10	60
	E-COMMERCE - COM-SEC-4014			4	A	8	32
	SGPA: 9.07		SEMESTER TOTAL	28			254
SEMESTER-5	PAPERS OFFERED			PC	GO	GP	CP
	PRINCIPLES OF MARKETING - COM-HC-5			6	В	6	36
	FUNDAMENTALS OF FINANCIAL MANAG			6	B+	7	42
	MANAGEMENT ACCOUNTING - COM-HE-			6	Р	4	24
SEMESTER-2 SEMESTER-3 SEMESTER-4 SEMESTER-5	INDIAN FINANCIAL SYSTEM - COM-HE-50	66		6	B+	7	42
	SGPA: 6.00		SEMESTER TOTAL	24			144
EMESTER-6	PAPERS OFFERED			PC	GO	GP	CP
	AUDITING AND CORPORATE GOVERNANCE - COM-HC-6016		6	В	6	36	
	INDIRECT TAX LAWS - COM-HC-6026			6	Α	8	48
	INDUSTRIAL RELATIONS AND LABOUR LA			6	В	6	36
	BUSINESS RESEARCH METHODS AND PR	KOJECT WORK - COM-HE-6066		6	Α	8	48
	SGPA: 7.00		SEMESTER TOTAL	24			168
	CGPA: 7.43 & RESULT: PASS	TOTAL		148			1100

HOD, Commerce Kharupetia College











Date: 05-09-2022

GOPINATH BARDOLOI NAGAR, GUWAHATI - 781014, ASSAM : INDIA

B COM (HONS) FINAL SEMESTER EXAMINATION - 2022 (Choice Based Credit System)

CONSOLIDATED GRADE SHEET

NAME:	MOINUL HOQUE								
ROLL NO. :	UC-191-248-0090	Registration	No.: 19080528						
	DARFOR OFFERE		P	C G	GP GP	CP			
SEMESTER-1	PAPERS OFFERED	EN DOMA AF 1014			5	20			
SEMESTER-2 SEMESTER-3	BUSINESS COMMUNICATION(ASSAMESE) - BCMA-AE-1014 FINANCIAL ACCOUNTING - COM-HC-1016				6	36			
	BUSINESS LAW - COM-HC-1026	0		C	5	30			
	MICRO ECONOMICS - COM-HG-1016		(D	4	24			
	SGPA: 5.00	SEMES	STER TOTAL 2	2		110			
SEMESTER.2	PAPERS OFFERED		P	G	GP GP	СР			
ROLL NO.: EMESTER-1 EMESTER-2 EMESTER-3 EMESTER-3	CORPORATE ACCOUNTING - COM-HC-2	016	(В	6	36			
	CORPORATE LAWS - COM-HC-2026			C	5	30			
	MACRO ECONOMICS - COM-HG-2016		(D	4	24			
ROLL NO.: SEMESTER-1 SEMESTER-2 SEMESTER-3	ENVIRONMENTAL STUDIES - ENV-AE-20	14	4	C	5	20			
	SGPA: 5.00	SEMES	STER TOTAL 2	2		110			
SEMESTER-3	PAPERS OFFERED		P	G	GP	СР			
	COMPUTER APPLICATIONS IN BUSINESS - COM-HC-3016			A+	9	54			
	INCOME-TAX LAW AND PRACTICE - COM-HC-3026			0	10	60			
	MANAGEMENT PRINCIPLES AND APPLICATIONS - COM-HC-3036			0	10	60			
	BUSINESS STATISTICS - COM-HG-3016		6	A	8	48			
	ENTREPRENEURSHIP - COM-SE-3014		4	Α+	9	36			
	SGPA: 9.21	SEMES	STER TOTAL 2	3		258			
SEMESTER-4	PAPERS OFFERED		P	G	GP	CP			
	COST ACCOUNTING - COM-HC-4016			A	8	48			
	BUSINESS MATHEMATICS - COM-HC-4026			A+	9	54			
	HUMAN RESOURCE MANAGEMENT - COM-HC-4036			A+	9	54			
	INDIAN ECONOMY - COM-HG-4016		6	A+	9	54			
	E-COMMERCE - COM-SEC-4014		4	-	10	40			
ROLL NO.: SEMESTER-1 SEMESTER-2 SEMESTER-3 SEMESTER-4	SGPA: 8.93	SEMES	TER TOTAL 2	3		250			
SEMESTER-5	PAPERS OFFERED		P	GC	GP	CP			
	PRINCIPLES OF MARKETING - COM-HC-		6	В	6	36			
*	FUNDAMENTALS OF FINANCIAL MANAGE		6	B+	7	42			
	ADVANCED FINANCIAL ACCOUNTING - (6	C	5	30			
	INDIAN FINANCIAL SYSTEM - COM-HE-5	066	6	A	8	48			
	SGPA: 6.50	SEMES	TER TOTAL 2			156			
SEMESTER-6	PAPERS OFFERED		P	GC	GP	CP			
	AUDITING AND CORPORATE GOVERNANCE - COM-HC-6016			В	6	36			
	INDIRECT TAX LAWS - COM-HC-6026			С	5	30			
	INDUSTRIAL RELATIONS AND LABOUR I		6	В	6	36			
SEMESTER-5	BUSINESS RESEARCH METHODS AND F	ROJECT WORK - COM-HE-6066	6	A	8	48			
	SGPA: 6.25	SEMES	TER TOTAL 2			150			
	CGPA: 6.99 & RESULT: PASS	TOTAL	14	0		1034			

Commerce Kharupelia College







GAUHATI





Date: 05-09-2022

GOPINATII BARDOLOI NAGAR, GUWAHATI - 781014, ASSAM : INDIA

B COM (HONS) FINAL SEMESTER EXAMINATION - 2022 (Choice Based Credit System)

CONSOLIDATED GRADE SHEET

NAME:	SHAHA ALOM	COLLEGE: KHARUPETIA	COLLE	GE		
ROLL NO. :	UC-191-248-0150	Registration No.: 1908	0589			
SEMESTER-1	PAPERS OFFERED		PC	GO	GP	CP
	FINANCIAL ACCOUNTING - COM-HC-1016	3	6	В	6	36
	BUSINESS LAW - COM-HC-1026		6	В	6	36
SEMESTER-3 SEMESTER-4 SEMESTER-5	MICRO ECONOMICS - COM-HG-1016		6	C	5	30
	BUSINESS COMMUNICATION (ENGLISH)	- BCME-AE-1014 *	4	0	10	40
	SGPA: 6.45	SEMESTER TOTAL	22			142
SEMESTER-2	PAPERS OFFERED	· ·	PC	GO	GP	CP
	CORPORATE ACCOUNTING - COM-HC-20	016	6	В	6	36
	CORPORATE LAWS - COM-HC-2026		6	В	6	36
SEMESTER-2 SEMESTER-3 SEMESTER-4 SEMESTER-5	MACRO ECONOMICS - COM-HG-2016		6	С	5	30
	ENVIRONMENTAL STUDIES - ENV-AE-20	14	4	D	4	16
	SGPA: 5.36	SEMESTER TOTAL	22			118
SEMESTER-3	PAPERS OFFERED		PC	GO	GP	CP
	COMPUTER APPLICATIONS IN BUSINESS - COM-HC-3016			Α	8	48
	INCOME-TAX LAW AND PRACTICE - COM-HC-3026			0	10	60
	MANAGEMENT PRINCIPLES AND APPLIC	CATIONS - COM-HC-3036	6	0	10	60
	BUSINESS STATISTICS - COM-HG-3016		6	B+	7	42
	ENTREPRENEURSHIP - COM-SE-3014		4	A+	9	36
	SGPA: 8.79	SEMESTER TOTAL	28			246
SEMESTER-4	PAPERS OFFERED		PC	GO	GP	CP
SEMESTER-4	COST ACCOUNTING - COM-HC-4016			A+	9	54
	BUSINESS MATHEMATICS - COM-HC-402	26	6	A+	9	54
SEMESTER-4	HUMAN RESOURCE MANAGEMENT - CO	M-HC-4036	6	0	10	60
	INDIAN ECONOMY - COM-HG-4016		6	A+	9	54
SEMESTER-3 SEMESTER-4 SEMESTER-5	E-COMMERCE - COM-SEC-4014		4	A+	9	36
	SGPA: 9.21	SEMESTER TOTAL	28			258
SEMESTER-5	PAPERS OFFERED		PC	GO	GP	CP
	PRINCIPLES OF MARKETING - COM-HC-	5016	6	В	6	36
	FUNDAMENTALS OF FINANCIAL MANAGE	SEMENT - COM-HC-5026	6	В	6	36
	ADVANCED FINANCIAL ACCOUNTING - 0		6	В	6	36
	INDIAN FINANCIAL SYSTEM - COM-HE-50	066	6	B+	7	42
	SGPA: 6.25	SEMESTER TOTAL	24			150
SEMESTER-6	PAPERS OFFERED		PC	GO	GP	СР
	AUDITING AND CORPORATE GOVERNANCE - COM-HC-6016		6	В	6	36
	INDIRECT TAX LAWS - COM-HC-6026		6	B+	7	42
	INDUSTRIAL RELATIONS AND LABOUR L		6	В	6	36
	BUSINESS RESEARCH METHODS AND P		6	Α	8	48
	SGPA: 6.75	SEMESTER TOTAL				162
	CGPA: 7.27 & RESULT: PASS	TOTAL	148	İ	1	1076

HOD, Commerce Kharupelia College











Date: 05-09-2022

GOPINATH BARDOLOI NAGAR, GUWAHATI - 781014, ASSAM : INDIA

B.COM (HONS) FINAL SEMESTER EXAMINATION - 2022 (Choice Based Credit System)

CONSOLIDATED GRADE SHEET

NAME:	SHAHA ALOM COLLEGE: KHARUPETIA COLLEGE						
ROLL NO.:	UC-191-248-0150 Re	egistration No.: 19080	589				
SEMESTER-1	PAPERS OFFERED			GO	GP	CP	
	FINANCIAL ACCOUNTING - COM-HC-1016		6	В	6	36	
SEMESTER-3 SEMESTER-4 SEMESTER-5	BUSINESS LAW - COM-HC-1026		6	В	6	36	
	MICRO ECONOMICS - COM-HG-1016		6	C	5	30	
	BUSINESS COMMUNICATION (ENGLISH) - BCME-AE-1014 *		4	0	10	40	
	SGPA: 6.45	SEMESTER TOTAL	22			142	
SEMESTER-2	PAPERS OFFERED			GO	GP	CP	
	CORPORATE ACCOUNTING - COM-HC-2016		6	В	6	36	
	CORPORATE LAWS - COM-HC-2026		6	В	6	36	
ROLL NO.: EMESTER-1 SEMESTER-2 SEMESTER-3 SEMESTER-4	MACRO ECONOMICS - COM-HG-2016		6	С	5	30	
	ENVIRONMENTAL STUDIES - ENV-AE-2014		4	D	4	16	
	SGPA: 5.36	SEMESTER TOTAL	22			118	
SEMESTER-3	PAPERS OFFERED		PC	GO	GP	СР	
	COMPUTER APPLICATIONS IN BUSINESS - COM-HC-3016		6	A	8	48	
	INCOME-TAX LAW AND PRACTICE - COM-HC-3026		6	0	10	60	
	MANAGEMENT PRINCIPLES AND APPLICATIONS - COM-HC-3036		6	0	10	60	
	BUSINESS STATISTICS - COM-HG-3016		6	B+	7	42	
	ENTREPRENEURSHIP - COM-SE-3014		4	A+	9	36	
	SGPA: 8.79	SEMESTER TOTAL	28			246	
SEMESTER-4	PAPERS OFFERED		PC	GO	GP	СР	
	COST ACCOUNTING - COM-HC-4016			A+	9	54	
	BUSINESS MATHEMATICS - COM-HC-4026		6	A+	9	54	
	HUMAN RESOURCE MANAGEMENT - COM-HC-4036			0	10	60	
	INDIAN ECONOMY - COM-HG-4016			A+	9	54	
	E-COMMERCE - COM-SEC-4014		4	A+	9	36	
	SGPA: 9.21	SEMESTER TOTAL	28			258	
SEMESTER-5	PAPERS OFFERED		PC	GO	GP	CP	
	PRINCIPLES OF MARKETING - COM-HC-5016		6	В	6	36	
	FUNDAMENTALS OF FINANCIAL MANAGEMENT - COM-HC-5026		6	В	6	- 36	
	ADVANCED FINANCIAL ACCOUNTING - COM-HE-5026		6	В	6	36	
	INDIAN FINANCIAL SYSTEM - COM-HE-5066		6	B+	7	42	
	SGPA: 6.25	SEMESTER TOTAL	24			150	
SEMESTER-6	PAPERS OFFERED		PC	GO	GP	CP	
	AUDITING AND CORPORATE GOVERNANCE - COM-HC-6016		6	В	6	36	
	INDIRECT TAX LAWS - COM-HC-6026		6	B+	7	42	
	INDUSTRIAL RELATIONS AND LABOUR LAWS - COM-HE-6056		6	В	6	36	
	BUSINESS RESEARCH METHODS AND PROJECT WORK - COM-HE-	6066	6	Α	8	48	
	SGPA: 6.75	SEMESTER TOTAL	24			162	
	CGPA: 7.27 & RESULT: PASS TOTAL		148			1076	

HOD, Commerce Kharupetia College





GOPINATH BARDOLOI NAGAR, GUWAHATI - 7810 年本日本 INDIA



Esta - 1981 (Choice Based Credit System)



CONSOLIDATED GRADE SHEET

NAME :	RASIDA MASUD									
ROLL NO.	UA-201-248-0253	UA-201-248-0253 Registration No. 20049521								
	PAPERS OFFERED	Tributan and a selection of the second	PC	CO	GP	CP				
SEMESTER-1	ASOUNA SAH TYAR BURANJICHAR MAPAD SANKARI JUC	L ACTING INTA	5	4.	9	54				
	ASONIYA SANIYAR BURANJI (UTTAR SANKARI JUG ARU	NOOS HIST ASMINE 1926	5	4.	B	.54				
	NTRODUCTION TO POLITICAL THEORY - POLING 1015	100-100	é	A	8	48				
EMESTER-2 EMESTER-3	SAKSHAMATA VIKASH PATHYA - ASM AE-1014		4	A.	3	36				
	SGPA ! 8 73	SEMESTER TOTAL	22	1,10		192				
			PC	GO	GP	CP				
SEMESTER-2	PAPERS OFFERED		6	4.	9	54				
	BHASHA BIGYAN PARICHAY - ASM.HC-2016		6	4.	9	54				
	SAHITYA SAMALOCHANA - ASM HC 2026		0	0	10 1	60				
EMESTER-2 EMESTER-3 EMESTER-4	INDIAN GOVERNENTED POLITICS - FOL-HG-2016	And the second for the second	4	pi.e	9	36				
	ENVIRONMENTAL STUDIES - ENV. AE-2014	SEMESTER TOTAL	22	(1)		704				
14	SGPA : 9.27	SEMESTER TOTAL	PC	GO	GP	CP				
SEMESTER-3	PAPERS OFFERED			B.	7	42				
	AXON YA SAHITYA PRABESH - ASM HC 3016				7	42				
	AXOMIYA KABITAH CHANEKI - ASMING-3029			9.	6	36				
	AXOMOR SANSKRITI - ASM-HC-0036		4	A	8	52				
	BYASAHARIK ANDMAN ASM SE-3014	14	ě	8.	7	42				
	COMPARATIVE GOVERNMENT AND POLITICS - POLHESI	SEMESTER TOTAL	28			194				
1.74.32.1	SGPA: 6 93	SEMESTER TOTAL	PC	GO	GP	CP				
SEMESTER-4	PAPERS OFFERED		5	A		48				
	TULANAMULAK BHARATIYA SAHTYA - ASM HC-4016			A.	9	54				
	ASOU YA EHASAR SAMAHARAN ARYA BHASHA ARU ARY	A VINNA BHASA - ASSESSED AV	6	A	8	48				
	ASOU YA GADYA SAHTYA (ARAMVANIR PORA ASTADASH BHARATIYA) - ASM-HC 4036	SATINATOR TOCKHANGON				7.4				
	GRI LANIM IL AK SAHITYA - ASM SE-4014		4	8.	1	2.5				
	INTHODUCTION TO INTERNATIONAL RELATIONS - POLING	3 4016	£	Ð	6					
	SGPA: 7.64	SEMESTER TOTAL	28	MER		214				
	PAPERS OFFERED		PC	GO	GP	CP				
SEMESTEN-5	AXAMYA NATAKARU PARIBESAN SAILI-ASM-HC-5018		6		21.	42				
	AXAUTA BYAKARAN - ASM HC 5076	MANAGER STATE STATE STATE OF THE SAME	. 6	.A.	, R ;	48				
	AXAMYA LOKA SAHITYA ADHYAYAN - ASM HE-5016	THE PROPERTY OF THE PARTY OF THE	6	A	8	48				
	SANKARDEV - ASM NE-5036 ALLERS TELES AND ADDEVE	CALLS STATE PROPERTY PART - CO	. 6	A	0	48				
	SGPA: 7.75	SEMESTER TOTAL	24			185				
CONTESTED 6	PAPERS OFFERED ATT UN ATTUCKED GARDINE		PC	GO	GP	CP				
SEMESTER-6	AXOMYA SUTIGALFA ARU UPANYAAS - ASM HC-6018	A A CONTRACT OF STATE OF THE ST	5	A+	1 9	54				
	AXOMYA LIPIR ITIHAAS - ASMHC-6076			9.	7	42				
Tables of Table	LAKSHMAATH BEZBARUA - ASM HE 6016		1.5	A	1 B	48				
	PRAKALPA - ASM HE-6056			.4.	1 9 1	54				
	SGPA: 8.25	SEMESTER TOTAL	24			198				
	JULY . C. E.	MATERIAL STATE OF THE PROPERTY	1143	1	2 5	1138				

Deputy Controller of Examinations

T0013205 GAUHATI



GOPINATH BARDOLOLNAGAR, GUWAHATI - 781



(Choice Based Gredit System)





CONSOLIDATED GRADE SHEET

NAMES	SAHIDA BEGUM	COLLE	GE: KHARUPETIA C	OLL	EGE		
ROLL NO. :	UA-191-248-0652	Re	gistration No.: 19080	025			
SEMESTER-1	PAPERS OFFERED			PC	GO	GP	CP
SEMESTER-2	SARSHAMATA VIKASH PATHYA - ASM-AE	1011	the same the property of the same of the s	4	10	5	20
	ASOM YA SAHITYAR BURANJI CHARLIYAL	and the second s	HC-1016	1 6	8	6	36
	ASOMIYA SAHITYAR BURANJI (UTTAR SA			6	9	6	36
	GENERAL PHILOSOPHY - PHI-MG-1016	and the second s	and a supplication of the	6	19	0	36
	SGPA : 5.82		SEMESTER TOTAL	72	100	1 = =	128
CHESTED 2				PC	GO	GP	CP
EMESIEN-2	PAPERS OFFERED			16	0	6	35
	BHASHA BIGYAN PARICHAY - ASM HC 20	the state of the s		6	1 8	5	36
	SAHTYA SAMA, CCHANA - ASM-HC-2026				1 6	5	20
	ENVIRONMENTAL STUDIES - ENVIAE-201	4	eventus bases of the contract	4	1 8	6	36
	INDIAN PHILOSOPHY - PHI-HG-2016		-	- parent	13	-	
	SGPA: 5.82	THE PARTY OF THE	SEMESTER TOTAL	22	-		128
SEMESTER-3	PAPERS OFFERED	in the Language	WHEN THE PERSON AND ADDRESS.	PC	GO	GP	CP
	AXOMIYA SAHITYA PRABESH - ASV HC-3016			6	A.	9	54
	AKOM YA KABITAR CHANEKI - ASM-HC-J026			6	LA	8	48
	AXOMOR SANSKRITI - ASM-HC-3036		The section of the second	6	A+	9	54
	BYABAHAR K AXOMIYA - ASM-SE-3014	THE THE STATE OF THE	Control of the state of the sta	4	0	10	40
	ETHICS - PHI-HG-3016	Language Contraction	and the same of th	6	A	9	48
	SGPA: 8.71		SEMESTER TOTAL	28	70	[] ps	244
SEMESTER-4	PAPERS OFFERED			PC	CO	GP	CP
	TULANAMULAK BHARATIYA SAHITYA - ASM-HC-1018			5	A-	9	54
	ASOMIYA BHASAR SAMAHARAN ARYA BH			6	A+:	0 1	54
	ASOMIYA GADYA SAHITYA (ARAMVANIR	PORA ASTADASH SATIKAL	OFTULANA VULAK	6	10-	9	54
	BHARATIYA) - ASM-HC-4036 SRIJANIMULAK SAHITYA - ASM-SE-4014			4	A+	9	36
	LOGIC - PHL-HG-4016		VIII CONTRACTOR LINES	6	0	10	60
SEMESTER-4	SGPA: 9.21		SEMESTER TOTAL	28	5,00	1627	253
251150750 F	PAPERS OFFERED	Transcolor and	A DATE OF THE PARTY OF THE PARTY	PC	GO	GP	CP
SEMESIEK-S	AXAMIYA NATAKARU PARIBESAN SAILI -	SM-HC-5016		6	8	6	36
	AXAMIYA BYAKARAN - ASM-HC-5026		water to the first of the state of the	8	8- 1	7	42
	AXAM YA LOKA SAHITYA ADHYAYAN - AS	U.HE-5016		0	8. 1	7	+2
	SANKARDEV - ASM-HE-5036			6	8	6	36
SEMESTER-5	SGPA: 6 50	ASTRONOMIC AND ADDRESS.	SEMESTER TOTAL	24	5 7 5 1		156
		The state of the s	out Capage and an experience of the state of	PC	GO	GP	CP
SEMESTER-0	PAPERS OFFERED			5.	8	6	36)
	AXOMIYA SUTIGALPA ARU UPANYAAS - ASW-HC-6018			6	3.	7	42
	AXOMYA LIPIR IT HAAS - ASM HO 6026 LAKSHMINATH BEZBAHUA - ASM HE 6016			5	B•	7	42
	PRAKALPA - ASM HE-6056			8	A.	9	54
	SGPA: 7.25	and continued to the second section on the spirit contract of	SEMESTER TOTAL	24		-	174
and the second second		1		143			1033
	CGPA: 7.35 & RESULT: PASS	TOTAL /	The second secon	143			1600

Deputy Controllers of Examination

OFFICE OF THE PRINCIPAL



KHARUPETIA COLLEGE

P.O. Kharupetia, DIST. Darrang (Assam)

PIN: 784115 :: ESTD.1981

200075

SI, No.-

AIE
Dale: 2 10 1.12 1.202
ovni
an inhabitant
P.O. Dolgann
udent of this College enrolled
er (Final) Examination under
0.125 in the year
Principal Kharupetia College Darrang, Assam Principal Kharupetia College





Etok No.: 01

OFFICE OF THE PRINCIPAL

RUPETIA COLLEGE

P.O. Kharupetia, DIST. Darrang (Assam) PIN: 784115 :: ESTD.1981

SI. No .-

LEAVING CERTIFICATE

230082

NO. : KC/CERTIFICATE :

DATE: 30 7/2023

Certified that Habiba Par	rbin	
Son/Daughter/Wife of Hamidut L	Pahman	an inhabitant
of Town/Village Sholabari	P.O. Rani	pukhuri
District Udalquiri , Assa	m is/was a student of th	is College enrolled
in the session 2020-21		
He/She has passed B.A./ B.Com. 6th	(Final) Semester Exa	amination under
Gauhati University with/ Roll .21A-201-248	No0079	in the year
2023 and obtained CGPA F: FE	2	
He/She bears a good moral character.		
I wish him/her all success in life.		
Jacob Land	io /	
Checked & verified.	Cipal lege Kharupe	ncipal /1/23 etia College
The state of the s		rincipal

Darrang, Assam Principal Kharupetia College



Date: 10-07-2023



PUPETIA, OF



B.A. (HONS) FINAL SEMESTER EXAMINATION - 2023 (Choice Based Credit System)



NAME:	JORZINA BEGUM	COLLEGE: KHARUPETIA C	OLLE	GE		
ROLL NO.:	UA-201-248-0127	Registration No.: 20049	394			
SEMESTER-1	PAPERS OFFERED		PC	GO	GP	CP
SEMESTER-1	FOUNDATIONS OF EDUCATION - EDU-HG-1016			Α	8	48
			6	0	10	60
	HINDI SAHITYA KA ITIHAS (RITIKAL TAK) HINDI SAHITYA KA ITIHAS (ADUNIK KAL) -		6	A+	9	54
	SAKSHAMATA VIKASH PATHYA - ASM-AE		4	B+	7	28
	SGPA: 8.64	SEMESTER TOTAL	22			190
EMECTED 2	PAPERS OFFERED		PC	GO	GP	СР
OLL NO. : EMESTER-1 EMESTER-2 EMESTER-3 EMESTER-4			6	A+	9	54
	PSYCHOLOGY OF ADOLESCENTS - EDU-		6	A+	9	54
	ADIKALIN EVAM MADHYAKALIN HINDI KA	VITA - HIN-FIC-2016	6	0	10	60
OLL NO.: EMESTER-1 EMESTER-2 EMESTER-3 EMESTER-4	ADHUNIK HINDI KAVITA - HIN-HC-2026		4	A	8	32
	ENVIRONMENTAL STUDIES - ENV-AE-201		22			200
	SGPA: 9.09	SEMESTER TOTAL			GP	CP
SEMESTER-3	PAPERS OFFERED		PC 6	GO A+	9	54
	GUIDANCE AND COUNSELLING - EDU-HG-3016		4	B+	7	28
	PUBLIC SPEAKING SKILL - EDU-SE-3014		6	A	8	48
	CHHAYAVADOTTAR HINDI KAVITA - HIN-H		6	A	8	48
	BHARATIYA KAVYASHASTRA - HIN-HC-30		6	A	8	48
	PASHCHATYA KAVYASHASTRA - HIN-HC-		-	_^	-	226
	SGPA: 8.07	SEMESTER TOTAL	28			
SEMESTER-4	PAPERS OFFERED	The second second	PC	GO	GP 6	36
	HISTORY OF EDUCATION IN INDIA - EDU-		6	В	8	32
	WRITING BIO-DATA AND FACING AN INTE	RVIEW - EDU-SE-4014	4	A B+	7	42
	HINDI NATAK EVAM EKANKI - HIN -HC-403		6	B+	6	36
	BHASA VIGYAN, HINDI BHASA EVAM DEVI	NAGARI LIPI - HIN-HC-4016			8	48
	HINDI KATHA SAHITYA - HIN-HC-4026		6	Α_	0	
	SGPA: 6.93	SEMESTER TOTAL	28			194
SEMESTER-5	PAPERS OFFERED		PC	GO	GP	СР
	HINDI NIBANDHA ABANG ANYA GADYA V	IDYAYE - HIN-HC-5016	6	B+	7	42
	PRAYOJANMILAK HINDI - HIN-HC-5026	•	6	B+	7	42
	LOK SAHITYA SINTAN - HIN-HE-5016		6	B+	7	42
	PURBOTTAR BHARAT MEIN HINDI VASA	AUR SAHITYA - HIN-HE-5036	6	В	6	36
	SGPA: 6.75 SEMESTER TOTAL		24			162
SEMESTER-6	PAPERS OFFERED		PC	GO	GP	СР
	HINDI KI SAHITTIK PATRAKARITA - HIN-HC-6016		6	B+	7	42
	HINDI PARIYOJANA KARYA - HIN-HC-6026		6	A+	9	54
	PREMCHAND KA SAHITYA - HIN-HE-6026		6	A	8	48
	HINDI KI BAISHIK PARIDRISHYA EBAM PR	RABASHI HINDI SAHITYA - HIN-HE-6036	6	B+	7	42
	SGPA: 7.75	SEMESTER TOTAL	24			186
			148		1	1158











Date: 07-12-2021

GOPINATH BARDOLOI NAGAR, GUWAHATI - 781014, ASSAM : INDIA BA (MAJOR) FINAL SEMESTER EXAMINATION - 2021

GRADE SHEET

(ABSOLUTE GRADING)

NAME :	MASUMA BEGUM			KHARUPETIA (LEG)L		
ROLL NO. :	UA-181-248-0185		Registration	No.: 18028778	,		_	,	
SEMESTER-1	PAPERS OFFERED		TM(Ext+Int/Pr)	MO (Ext +Int/Pr)	%M	PC	GO	GP	-
DECEMBER, 2019	HINDI - HIN M - 1.1		80+20	28+17	45	8	C	5	40
	HINDI - HIN M - 1.2 *		80+20	60+15	75	8	A	8	64
	SGPA: 6.50	SEMESTER TOTAL	200	120		16			104
SEMESTER-2	PAPERS OFFERED		TM(Ext+Int/Pr)	MO (Ext +Int/Pr)	%М	PC	GO	GP	HP
MAY, 2019	HINDI - HIN M - 2.1		80+20	49+17	66	8	B+	7	56
	HINDI - HIN M - 2.2		80+20	53+14	67	8	B+	7	56
	SGPA: 7.00	SEMESTER TOTAL	200	133		16			112
SEMESTER-3	PAPERS OFFERED		TM(Ext+Int/Pr)	MO (Ext +Int/Pr)	%М	PC	GO	GP	HP
NOVEMBER, 2019	HINDI - HIN M - 3.1		80+20	44+16	60	8	B+	7	56
	HINDI - HIN M - 3.2		80+20	47+15	62	8	B+	7	56
	SGPA: 7.00	SEMESTER TOTAL	200	122		16		-	112
SEMESTER-4	PAPERS OFFERED		TM(Ext+Int/Pr)	MO (Ext +Int/Pr)	%M	PC	GO	GP	HP
SEPTEMBER, 2020	HINDI - HIN M - 4.1		80+20	40+17	57	8	В	6	48
	HINDI - HIN M - 4.2		80+20	53+18	71	8	Α	8	64
	SGPA: 7.00	SEMESTER TOTAL	200	128		16			112
SEMESTER-5	PAPERS OFFERED		TM(Ext+Int/Pr)	MO (Ext +Int/Pr)	%M	PC	GO	GP	HP
JUNE, 2021	HINDI - HIN M 5.1		60+15	52+14	88	6	A+	9	54
	HINDI - HIN M 5.2		60+15	52+14	88	6	A+	9	54
	HINDI - HIN M 5.3		60+15	46+13	79	6	Α	8	48
	HINDI - HIN M 5.4		60+15	55+13	91	6	0	10	60
	HINDI - HIN M 5.5		60+15	55+13	91	6	0	10	60
	HINDI - HIN M 5.6		60+15	55+14	92	6	0	10	60
	SGPA: 9.33	SEMESTER TOTAL	450	396		36			336
SEMESTER-6	PAPERS OFFERED		TM(Ext+Int/Pr)	MO (Ext +Int/Pr)	%М	PC	GO	GP	HP
AUGUST, 2021	HINDI - HIN M 6.1		60+15	53+15	91	6	0	10	60
	HINDI - HIN M 6.2	Y I I I I I I I I I I I I I I I I I I I	60+15	54+13	89	6	A+	9	54
	HINDI - HIN M 6.3		60+15	50+15	87	6	A+	9	54
	HINDI - HIN M 6.4		60+15	49+13	83	6	A+	9	54
7.2 -	HINDI - HIN M 6.5		60+15	55+12	89	6	A+	9	54
	HINDI - (P) - HIN M 6.6		75	73	97	8	0	10	80
	SGPA: 9.37	SEMESTER TOTAL	450	402		38			356
	CGPA:8.20 RESULT: PASS	TOTAL	1700	1301		138			1132

Sd/-

Controller / Dy Controller of Examination

Note: 1 ** Indicate the paper marks not added in Total.



T0013095 GAUHATI



GOPINATH BARDOLOI NAGAR, GUWAHATI - 781014, 485



Date: 05-09-2022

B.A. (HONS) FINAL SEMESTER EXAMINATION,

(Choice Based Credit System)



CONSOLIDATED GRADE SHEET

IAME :	JABIR AHMED COLLEGE: KHARUPETIA COLLEGE								
ROLL NO. :	UA-191-248-0464	Registration No.: 190798	36	11 67	CHAF	U' - V'.			
EMESTED 1	PAPERS OFFERED		PC	GO	GP	CP			
EMESIEK-1	SAKSHAMATA VIKASH PATHYA - ASM-AE-1014	LINE SERVICED SEVICED SE	4	В	6	1 24			
	ASOMIYA SAHITYAR BURANJI (CHARJYAPAD SANKARI JUG)	- ASM-HC-1016	6	В	6	36			
	ASOMIYA SAHITYAR BURANJI (UTTAR SANKARI JUG, ARUN	ODAL JUG) - ASM-HC-1026	6	B+	7	42			
	INTRODUCTION TO POLITICAL THEORY - POL-HG-1016	THE THE STREET PROPERTY AND LINES.	6	8+	7	42			
	SGPA: 6.55	SEMESTER TOTAL	22	Vo.	Jest	144			
FILEDZER		THE BUTTON OF KINDY CONTROL	PC	GO	GP	CP			
EMESTER-3 SILVERSITY CALLED TO CALLE	PAPERS OFFERED		6	В	6	36			
ATTUMP CREU	BHASHA BIGYAN PARICHAY - ASM-HC-2016	The state of the s	6	B+	7	42			
MIVERS O GA	SAHITYA SAMALOCHANA - ASM-HC-2026	THE PROPERTY OF ALBERT	14	В	6	24			
EMESTER-1 LINE EMESTER-2 AT URB A SEMESTER-3 AT	ENVIRONMENTAL STUDIES - ENV-AE-2014 INDIAN GOVERMENTED POLITICS - POL-HG-2016		6	B+	7	42			
	The state of the s	OFMESTER TOTAL	22	ERS	IV G	144			
N. D. CHINERS I	SGPA: 6.55	SEMESTER TOTAL	PC	GO	GP	CP			
SEMESTER-3	PAPERS OFFERED		6	A+	9	54			
	AXOMIYA SAHITYA PRABESH - ASM-HC-3016			A	8	48			
WITH UNIVERSE.	AXOMIYA KABITAR CHANEKI - ASM-HC-3026			A	8	48			
INIVERSITY GA	AXOMOR SANSKRITI - ASM-HC-3036			0	10	40			
MATEUN VERS	BYABAHARIK AXOMIYA - ASM-SE-3014	THE POST OF THE PARTY OF A SHARE THE SAIN	6	B+	7	42			
NIVERSOLOGA ATTUNIVERSO	COMPARATIVE GOVERNMENT AND POLITICS - POL-HG-301	1 13		V / 1/	1	232			
HIVERSITY GA	SGPA: 8.29 STY GA	SEMESTER TOTAL	28	100	-	7 1 1			
SEMESTER-4	PAPERS OFFERED	ANTHORN SHIPS IS SEEN TO HAVE	PC 6	GO	GP	CP 54			
ATLUMNERS	TULANAMULAK BHARATIYA SAHITYA - ASM-HC-4016			A+	9	54			
NIVERSITY GA	ASOMIYA BHASAR SAMAHARAN ARYA BHASHA ARU ARYA VINNA BHASA - ASM-HC-4026			A+	9 -	54			
ATHEN YERS	ASOMIYA GADYA SAHITYA (ARAMVANIR PORA ASTADASH SATIKALOI TULANAMULAK			-	130	1170			
MINEROLD OF	BHARATIYA) - ASM-HC-4036 SRIJANIMULAK SAHITYA - ASM-SE-4014			A+	9	36			
MAN EDWARDS	INTRODUCTION TO INTERNATIONAL RELATIONS - POL-HG-4016			B+	7	42			
-IATTUNIVERS	SGPA: 8.57	SEMESTER TOTAL	28	(E)(3)	113	240			
DEMESTED E	PAPERS OFFERED	SER UNIVERSITY GAUNA	PC	GO	GP	CP			
SEMESTER-5	AXAMIYA NATAKARU PARIBESAN SAILI - ASM-HC-5016	STATERSITY CAUNACTURE	6	В	6	36			
HATI UNIVERSI	AXAMIYA BYAKARAN - ASM-HC-5026	THAT UNIVERSITY OAU	6	В	6	36			
NIVERSITY GA	AXAMIYA LOKA SAHITYA ADHYAYAN - ASM-HE-5016	ALLANDAR STORY CALLS	1 6	C	5	30			
HATI UNIVERS	SANKARDEV - ASM-HE-5036 THE MARKET CALLED	THURSDAY CAUSATION	6	B+	7 : 1	42			
MIVERSOLY GA MATHUNIVERS	T SGPA: 6.00 VIVERSITY CAUMAITUMIVERSITY G	SEMESTER TOTAL	24	ERS	7.6	144			
SEMESTER-S	A SAULATION CACINA	ALBERT CHARLES OF THE PROPERTY OF THE	PC	GO	GP	CP			
SEMESTER-0	PAPERS OFFERED - AXOMIYA SUTIGALPA ARU UPANYAAS - ASM-HC-6016		6	В	6	36			
HAT HANDEDE	AXOMIYA SUTIGALPA ARU UPANYAAS - ASM-HC-6016 AXOMIYA LIPIR ITIHAAS - ASM-HC-6026		6	B+	7	42			
INVERSITY BA	LAKSHMINATH BEZBARUA - ASM-HE-6016	Different Carrier U.S.	6	В	6	36			
(ATTUNIVERS	PRAKALPA - ASM-HE-5055	THE PROPERTY OF THE PARTY OF TH	6	A	8	48			
MIVERSITY OF	SGPA: 6.75	SEMESTER TOTAL	24	EKB	Y G	162			
1.700011169	CGPA: 7.20 & RESULT: PASS TOTAL	THE BOTH CONTRACTOR OF	148	1 00	O TOO	1066			

Deputy Controllers of Examination

OFFICE OF THE PRINCIPAL





Esta - 1981

P.O. Kharupetia, DIST. Darrang (Assam)

4 Book No.:

PIN: 784115 :: ESTD.1981

si. N220337

LEAVING CERTIFICATE

NO. : KC/CERTIFICATE :	DATE: 22/109/2022
Certified that	Jabir Threed
Son/Daughter/Wife of	Fraidad Strange an inhabitant
of Town Village Kopali	Govon P.O. Silbori
District Larrang.	, Assam is/was a student of this College enrolled
in the session 2019 - 20	
He/She has passed B.A./ B.C	Com. 6th (Final) Semester Examination under
	191248 No. 0464 in the year
He/She bears a good moral chara	acter.
I wish him/her all success in life.	
Checked & verified.	Principal Kharupetia College Darrang, Assam

Kharupetia College







UNIVERSITY



Date: 05-09-2022

GOPINATII BARDOLOI NAGAR, GUWAHATI - 781014, ASSAM : INDIA

B.A. (HONS) FINAL SEMESTER EXAMINATION - 2022 (Choice Based Credit System)

CONSOLIDATED GRADE SHEET

NAME :	ENAMOETICACE	COLLEGE: KHARUPETIA COL Registration No.: 19079775						
ROLL NO. :	UA-191-248-0407 Regi	stration No.: 190797	79		GP	СР		
SEMESTER-1	PAPERS OFFERED	RS OFFERED						
SEMESTER!	SAKSHAMATA VIKASH PATHYA - ASM-AE-1014	4	В	6	24			
	ASOMIYA SAHITYAR BURANJI(CHARJYAPAD SANKARI JUG) - ASM-HC	C-1016	6	С	5	30		
	ASOMIYA SAHITYAR BURANJI (UTTAR SANKARI JUG, ARUNODAI JUG	i) - ASM-HC-1026	6	D	4	24		
	INTRODUCTION TO POLITICAL THEORY - POL-HG-1016		6	В	6	36		
	SGPA: 5.18	SEMESTER TOTAL	22			114		
SEMESTER-2	PAPERS OFFERED		PC	GO	GP	CP		
oemeoren e	BHASHA BIGYAN PARICHAY - ASM-HC-2016		6	С	5	30		
	SAHITYA SAMALOCHANA - ASM-HC-2026		6	D	4	24		
	ENVIRONMENTAL STUDIES - ENV-AE-2014		4	В	6	24		
	INDIAN GOVERMENTED POLITICS - POL-HG-2016		6	В	6	36		
	SGPA: 5.18	Registration No.: 19079 ASM-AE-1014 ARJYAPAD SANKARI JUG) - ASM-HC-1016 TAR SANKARI JUG, ARUNODAI JUG) - ASM-HC-1026 IEORY - POL-HG-1016 SEMESTER TOTAL A-HC-2016 IC-2026 -AE-2014 S-POL-HG-2016 SEMESTER TOTAL SM-HC-3016 M-HC-3026 3036 -3014 ID POLITICS - POL-HG-3016 SEMESTER TOTAL TYA - ASM-HC-4016 ARYA BHASHA ARU ARYA VINNA BHASA - ASM-HC-4026 IVANIR PORA ASTADASH SATIKALOI TULANAMULAK E-4014 NAL-RELATIONS - POL-HG-4016 SEMESTER TOTAL I SAILI - ASM-HC-5016 026 VAN - ASM-HC-5016 SEMESTER TOTAL				114		
SEMESTER-3	PAPERS OFFERED		PC	GO	GP	CP		
OEM/EOTEN O	AXOMIYA SAHITYA PRABESH - ASM-HC-3016		6	Α	8	48		
	AXOMIYA KABITAR CHANEKI - ASM-HC-3026		6	Α	8	48		
	AXOMOR SANSKRITI - ASM-HC-3036		6	Α	8	48		
	BYABAHARIK AXOMIYA - ASM-SE-3014		4	0	10	40		
	COMPARATIVE GOVERNMENT AND POLITICS - POL-HG-3016		6	Α	8	48		
	SGPA: 8.29	SEMESTER TOTAL	28			232		
SEMESTER-4	PAPERS OFFERED		PC	GO	GP	CP		
	TULANAMULAK BHARATIYA SAHITYA - ASM-HC-4016		6	A+	9	54		
	ASOMIYA BHASAR SAMAHARAN:ARYA BHASHA ARU ARYA VINNA BH	IASA - ASM-HC-4026	6	A+	9	54		
	ASOMIYA GADYA SAHITYA (ARAMVANIR PORA ASTADASH SATIKALO BHARATIYA) - ASM-HC-4036	OI TULANAMULAK	6	A+	9	54		
	SRIJANIMULAK SAHITYA - ASM-SE-4014		4	A+	9	36		
	INTRODUCTION TO INTERNATIONAL-RELATIONS - POL-HG-4016		6	B+	7	-42		
	SGPA: 8.57	SEMESTER TOTAL	28			240		
SEMESTER-5	PAPERS OFFERED		PC	GO	GP	CP		
	AXAMIYA NATAKARU PARIBESAN SAILI - ASM-HC-5016	E-3014 AND POLITICS - POL-HG-3016 SEMESTER TOTAL HITYA - ASM-HC-4016 A: ARYA BHASHA ARU ARYA VINNA BHASA - ASM-HC-4026 AMVANIR PORA ASTADASH SATIKALOI TULANAMULAK SE-4014 DNAL-RELATIONS - POL-HG-4016 SEMESTER TOTAL AN SAILI - ASM-HC-5016 5026		Р	4	24		
	AXAMIYA BYAKARAN - ASM-HC-5026		6	С	5	30		
	AXAMIYA LOKA SAHITYA ADHYAYAN - ASM-HE-5016		6	С	5	30		
	SANKARDEV - ASM-HE-5036	,	6	B+	7	42		
	SGPA: 5.25	ARJYAPAD SANKARI JUG) - ASM-HC-1016 TAR SANKARI JUG, ARUNODAI JUG) - ASM-HC-1026 IEORY - POL-HG-1016 SEMESTER TOTAL A-HC-2016 IC-2026 -AE-2014 S-POL-HG-2016 SEMESTER TOTAL SM-HC-3026 306 3014 ID POLITICS - POL-HG-3016 SEMESTER TOTAL TYA - ASM-HC-4016 ARYA BHASHA ARU ARYA VINNA BHASA - ASM-HC-4026 IVANIR PORA ASTADASH SATIKALOI TULANAMULAK E-4014 IAL-RELATIONS - POL-HG-4016 SEMESTER TOTAL ISAILI - ASM-HC-5016 ISAILI - ASM-HC-5016 SEMESTER TOTAL SEMESTER TOTAL SEMESTER TOTAL SEMESTER TOTAL				126		
SEMESTER-6	PAPERS OFFERED	PC GO	GP	CP				
	AXOMIYA SUTIGALPA ARU UPANYAAS - ASM-HC-6016		6	В	6	36		
	AXOMIYA LIPIR ITIHAAS - ASM-HC-6026		6	В	6	36		
	LAKSHMINATH BEZBARUA - ASM-HE-6016		6	В	6	36		





T0013154



GOPINATH BARDOLOI NAGAR, GUWAHATI - 781014, ASSAM: INDIA



B A (HONS) FINAL SEMESTER EXAMINATION - 2022

(Choice Based Credit System)



Esta - 1981

CONSOLIDATED GRADE SHEET

NAME:	MONIZA KHATUN	COLLEGE: KHARUPE	TIA COLL	EGE				
ROLL NO. :	UA-191-248-0560	8-0560 Registration No.: 1907993						
SEMESTER-1	Registration No.,	19079932	179	ALBA	(S) (No.)			
	SAKSHAMATA VIKASH PATHYA - ASMI-AE-1014							
	ASOMIYA SAHITYAR BURAN IKCHAR IYADAR	The fire of the control of the contr	manager land		6	24		
	ASOMIYA SAHITYAR BURAN ILUTTAR SANKAT	ANKARI JUG) - ASM-HC-1016		-	6	36		
	GENERAL PHILOSOPHY - PHI-HG-1016	RI JUG, ARUNODAI JUG) - ASM-HC-1026			6	36		
		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			6	36		
SEMESTER-2		Registration No.: 19079932 ED ASH PATHYA - ASM-AE-1014 AR BURANJI(CHARJYAPAD SANKARI JUG) - ASM-HC-1016 AR BURANJI (UTTAR SANKARI JUG, ARUNODAI JUG) - ASM-HC-1026 BR BURANJI (UTTAR SANKARI JUG, ARUNODAI JUG) - ASM-HC-1026 BOPHY - PHI-HG-1016 CHANA - ASM-HC-2016 CHANA - ASM-HC-3016 A PRABESH - ASM-HC-3016 A PRABESH - ASM-HC-3026 A PRABESH - ASM-HC-3026 A PRABESH - ASM-HC-3026 A CHANERI - ASM-HC-3026 A CHANERI - ASM-HC-3026 A CHANERI - ASM-HC-3026 B CHANERI - ASM-HC-3026 CHANA - ASM-SE-3014 CHANA - ASM-SE-3014 CHANA - ASM-SE-3014 CHANA - ASM-SE-3014 CHANA - ASM-HC-3026 CHANA - ASM-SE-3014 CHANA - ASM-HC-3026 C		132				
and a state of the sales	NO.: UA-191-248-0560 Registration No.: 190 ER-1 PAPERS OFFERED SAKSHAMATA VIKASH PATHYA - ASM-AE-1014 ASOMIYA SAHITYAR BURANJI (UTTAR SANKARI JUG) - ASM-HC-1016 ASOMIYA SAHITYAR BURANJI (UTTAR SANKARI JUG, ARUNODAI JUG) - ASM-HC-1026 GENERAL PHILOSOPHY - PHI-HG-1016 SGPA : 6.00 SEMESTER TOTA PAPERS OFFERED BHASHA B'GYAN PARICHAY - ASM-HC-2016 SAHITYA SAMALOCHANA - ASM-HC-2016 SAHITYA SAMALOCHANA - ASM-HC-2016 SAHITYA SAMALOCHANA - ASM-HC-2016 SCPA : 6.00 SEMESTER TOTA FER-3 PAPERS OFFERED AZOMIYA SAHITYA PRABESH - ASM-HC-3016 AZOMIYA KABITAR CHANEKI - ASM-HC-3026 BYABAHARIK AZOMIYA - ASM SE-3014 ETHICS - PHI-HG-3016 SGPA : 8.50 SEMESTER TOTAL FER-4 PAPERS OFFERED 1ULANAMULAK BHARATIYA SAHITYA - ASM-HC-4016 ASOMIYA BHASAR SAMAHARAN ARVA BHASHA ARU ARVA VINNA BHASA - ASM-HC-4026 ASOMIYA GADVA SAHITYA (ARAMVANIR FORA ASTADASH SATIKALOT TULANAMULAK BHARATIYA) - ASM-HC-4036 SRIMATIMULAK SAHITYA - ASW-SE-4014 LOGIC - PHI-HG-4016 SGPA : 9.07 SEMESTER TOTAL PAPERS OFFERED AXAMIYA ANAM-C-4036 SGPA : 9.07 SEMESTER TOTAL PAPERS OFFERED AXAMIYA ANAM-C-4036 SGPA : 9.07 SEMESTER TOTAL PAPERS OFFERED AXAMIYA ANAM-C-4036 SGPA : 9.07 SEMESTER TOTAL PAPERS OFFERED AXAMIYA ANAM-C-5026 AXAMIYA ANAM-C-5026 AXAMIYA ANAM-C-5036 SANKARDEV - ASM-HC-5036 SEMESTER TOTAL	PC	GO	GP	CP			
	BHASHA BIGYAN PARICHAY - ASM-HC-2016	1 /y H War Level	1 6	В	6	36		
	SAHITYA SAMALOCHANA - ASM-HC-2026		6	В	6	36		
	INDIAN BHILDSCOLLS - ENV-AE-2014		4	В	6	24		
	the state of the s		6	В	6	36		
	SGPA: 6.00	SEMESTER TO	OTAL 22	11-1	CV.	132		
SEMESTER-3	PAPERS OFFERED SAKSHAMATA VIKASH PATHYA - ASMAE-1014 ASOMIYA SAHITYAR BURANJI (UTTAR SANKARI JUG) - ASM-HC-1016 ASOMIYA SAHITYAR BURANJI (UTTAR SANKARI JUG) - ASM-HC-1016 ASOMIYA SAHITYAR BURANJI (UTTAR SANKARI JUG) - ASM-HC-1016 SGPA : 6.00 SEMESTER TOTAL PAPERS OFFERED BHASHA BIGYAN PARICHAY - ASM-HC-2016 SAHITYA SAMALOCHANA - ASM-HC-2016 SAHITYA SAMALOCHANA - ASM-HC-2016 SAHITYA SAMALOCHANA - ASM-HC-2016 SGPA : 6.00 SEMESTER TOTAL PAPERS OFFERED AXOMIYA SAHITYA PRABESH - ASM-HC-3016 AXOMIYA SAHITYA PRABESH - ASM-HC-3016 AXOMIYA SAHITYA PRABESH - ASM-HC-3026 AXOMOR SANSKRITI - ASM-HC-3036 BYABAHARIK AXOMIYA - ASM-HC-3014 ETHICS - PHI-HG-3016 SGPA : 8.50 SEMESTER TOTAL PAPERS OFFERED 1ULAYAMULAR BHARATIYA SAHITYA - ASM-HC-4016 ASOMIYA GADYA SAHITYA (ARAMWANIR PORA ASTADASH SATIKALOI TULAWAMULAK BHARATIYA) - ASM-HC-3036 SHUANIMULAK SAHITYA - ASW-SE-4014 LOGIC - PHI-HG-4016 SGPA : 9.07 SEMESTER TOTAL PAPERS OFFERED AXAMIYA NATAKARU PARIBESAN SAILI - ASM-HC-5016 AXAMIYA BHASAR SAMAHARAN ARYA BHASHA ARU ARYA VINNA BHASA - ASM-HC-4026 AXAMIYA GADYA SAHITYA - ASW-SE-4014 LOGIC - PHI-HG-4016 SGPA : 9.07 SEMESTER TOTAL PAPERS OFFERED AXAMIYA NATAKARU PARIBESAN SAILI - ASM-HC-5016 AXAMIYA BYAKARAN - ASM-HC-5026 AXAMIYA BYAKARAN - ASM-HC-5026 AXAMIYA BYAKARAN - ASM-HC-5026 AXAMIYA BYAKARAN - ASM-HC-5026 AXAMIYA BYAKARAN - ASM-HC-5016 AXAMIYA BYAKARAN - ASM-HC-5026 AXAMIYA LORA SHITYA - ADHYAYAN - ASM-HC-5016 AXAMIYA BYAKARAN - ASM-HC-5036 BGPA : 5.75 SEMESTER TOTAL AXAMIYA BYAKARAN - ASM-HC-5036 BCANAWA LORA SHITYA - ASM-HC-6036 BCANAWA LORA SHITYA - AS		PC	GO	GP	CP		
	AXOMIYA SAHITYA PRABESH - ASM-HC-3016	and the state of t	6	A+	9	54		
	AXOMIYA KABITAR CHANEKI - ASM-HC-3026	to be profession to the contract of	6	A	8	48		
			6	A	8	48		
				0	10	40		
		and the state of t	6	A	8	48		
		SEMESTER TO	TAL 28	17 5	7994	238		
SEMESTER-4			PC	GO	GP	CP		
	TULANAMULAK BHARATIYA SAHITYA - ASM-HO	2-4016	6	A+	9	54		
	ASOMIYA BHASAR SAMAHARAN ARYA BHASH	A ARU ARYA VINNA BHASA - ASM-HC-4021	6	A+	9	54		
	BHARATIYA) - ASM-HC-4036	ASTADASH SATIKALOI TULANAMULAK	6	A-	9	54		
		to to all a strategical start.			8	32		
				10	10	60		
		SEMESTER TO	TAL 28	200		254		
SEMESTER-5		M-AE-1014 JYAPAD SANKARI JUG, - ASM-HC-1016 R SANKARI JUG, ARUNODAI JUG) - ASM-HC-1026 16 SEMESTER TOT IC-2016 IC-2016 IC-2014 SEMESTER TOTA HC-3016 HC-3026 14 SEMESTER TOTA A - ASM-HC-4016 IA BHASHA ARU ARYA VINNA BHASA - ASM-HC-4026 NIR PORA ASTADASH SATIKALOI TULANAMULAK 1014 SEMESTER TOTA			GP	CP		
		HC-5016	6 >	С	5	30		
	1	and what the first was the state of the stat			6	36		
		-5016			6	36		
	SANKARDEV - ASM-HE-5036							
		SEMESTER TO	TAL 24	10	14 K	138		
SEMESTER-6	GENERAL PHILOSOPHY - PHI-HG-1016 SGPA: 6.00 R-2 PAPERS OFFERED BHASHA BIGYAN PARICHAY - ASM-HC-2016 SAHITYA SAMALOCHANA - ASM-HC-2016 SAHITYA SAMALOCHANA - ASM-HC-2016 SAHITYA SAMALOCHANA - ASM-HC-2016 SAHITYA SAMALOCHANA - ASM-HC-2016 SGPA: 6.00 R-3 PAPERS OFFERED AXOMINA SAHITYA PRABESH - ASM-HC-3016 AXOMINA SAHITYA PRABESH - ASM-HC-3026 BYABAHARIK AXOMIYA - ASM-SE-3014 ETHICS - PHI-HG-3016 SGPA: 8.50 SEMESTER TOTA R-4 PAPERS OFFERED 1ULANAMULAK BHARATIYA SAHITYA - ASM-HC-4016 ASOMIYA BHASAR SAMAHARAN ARYA BHASHA ARU ARYA VINNA BHASA - ASM-HC-4026 ASOMIYA GADYA SAHITYA (ARAMWANIR PORA ASTADASH SATIKALOI TULANAMULAK BHARATIYA) - ASM-HC-4036 SRUANIMULAK SAHITYA - ASM-SE-4014 LOGIC - PHI-HG-4016 SGPA: 9.07 SEMESTER TOTA R-5 PAPERS OFFERED AXAMIYA BYAKARAN - ASM-HC-5016 AXAMIYA BYAKARAN - ASM-HC-5036 SGPA: 5.75 SEMESTER TOTA R-6 PAPERS OFFERED AXOMIYA SUTIGAL PA ARU UPANYAAS - ASM-HC-5016 AXOMIYA SUTIGAL PA ARU UPANYAAS - ASM-HC-6016 PRAKALPA - ASM-HC-6056 SGPA: 7.25 SEMESTER TOTA				GP	CP		
		C-6016			6	36		
					7	42		
		THE COLUMN THE PROPERTY OF THE PARTY OF THE			7	42		
		SEMESTER		A+	9	174		
			.,,_					
	CGPA : 7.22 & RESULT : PASS TO	TAL	148		: 1	1068		

Deputy Controllers of Examination

B.A. SIXTH (FINAL) SEMESTER EXAMINATION -GRADE SHEET SUPETIA CO (ABSOLUTE GRADING) SL. No. 020837 Date: 03.07 /2018 6 The following are the marks / grades obtained by BULTANA REZIA Roll Code A-15248 Rell No. 0168 0 NHARUPETIA COLLEGE U.A. SIXTH (FINAL) SEMESTER held in APRIL, 2018 SUBJECT(S) OFFERED TOTAL MARKS PERCENTAGE PAPER HONOUR MARKS OBTAINED OF MARKS CREDIT POINT COURSE: MAJOR: HINDI - PAPER-I 73 37 5Z.00 HINDI- PAPER-II 36 75 44 58.67 6 36 HINDI- PAPER-III 75 45.33 34 6 5 30 HINDI- PAPER-IV 75 50 66.67 7 6 42 HINDI- PAPER-V 75 49 65.33 42 HINDI- PROJECT. 75 84.00 63 72 SEM - VI TOTAL: 450 279 38 258 5.8 SEM - V TOTAL: 450 315 36 276 7.7 SEM - IV TOTAL: 200 125 16 112 7.0 SEM - III TOTAL: 200 80 16 72 4.5 SEM - II TOTAL: 200 92 16 80 5.0 SEM - I TOTAL: 200 90 16 80 5.0 MAJOR TOTAL 1700 981 138 878 36.0 C.G.P.A. -> 6.0 UHATI UNIVERS GENERAL SUBJECTS: (SEMESTER UI/II/II/IV) POLITICAL SCIENCE 350 139 350 MIL (ASSAMESE) 180 47 GENERAL ENGLISH 100 GENERAL TOTAL: 800 366

ITY GALHATI UNI WIN



B.A. SIXTH (FINAL) DEMESTER EXAMINATION -

GRADE SHEET (ABSOLUTE GRADING)

SC 3/2 020855

63

9

(0)

0

9

0

0

0

0

Date. 05.07.2018

Estd - 1981

The following are the marks /grades obtained by AFBANARA BEGUM

Roll Code A-15248

Roll No. 0240

MHARUPETIA COLLEGE

mithe D.A. SIXTH (FINAL) SEMESTER

held m APRIL, 2018

SUBJECT(S) OFFERED	MUSS.	MIRES	OF MARKS	CEST	Ma M	NOSOUR PURST	CGPA
COURSE: MAJOR:	1	7					
value of the second of the second				,		36	
HINDI- PAPER-II	75 75	43	64.00	6	6	42	
HINDI- PAPER-III	75	49	65.33		7	42	
HINDI- PAPER-IV	75	50	66.67		7	42	
HINDI- PAPER-V	75	49	65.33	6	7	42	
HINDI- PROJECT.	75	70	93.33	В	10	80	
SEM - VI TOTAL:	450	309		28		284	7.5
SEM - V TOTAL:	450	309		36		258	7.2
SEM - IV TOTAL:	200	126		15		104	6.5
SEM - III TOTAL:	200	123		16		112	7.0
SEM - II TOTAL:	200	96		16		88	5.5
SEM - I TOTAL:	200	88		16		80	5.0
MAJOR TOTAL:	1700	1051		138		926	38.7
C.G.P.A>							6.5
SEMERAL SUBJECTS: (SEMESTER I/II/III/IV)							
EDUCATION	350	139					
MIL (ASSAMESE)	350	171			-	-	
GENERAL ENGLISH	100	35					
CENERAL TOTAL:	800	346		1		4.4	
an No							
Manuells collede	The state of				14		-
Sch3 Medo	I Pada	1			10	100 147	
All Server	to the co	la-par	- 1			diam'	17.8
Myston March	4 168					200	
a public could have have a the regular	Trend :	1,9-75	n Walter	(2	-	1 3 3 30	20,000
HESULT -> PASS					:5	150	72

Dy/Assit Controller of Examinations





GOPINATII BARDOLOI NAGAR, GUWAHATI - 781014, ASSAM : INDIA

B.COM (MAJOR) FIFTH SEMESTER EXAMINATION - 2020

GRADE SHEET

(ABSOLUTE GRADING)

Date 07-10-2021

ISLAMUDDIN AHMED

UC-181-248-0031

KHARUPETIA COLLEGE

B.COM (MAJOR) 5th SEMESTER EXAM. - 2020

JUNE, 2021

SUBJECT(S) OFFERED	TOTAL MARKS	MARKS OBTAINED EXT+INT	PERCENTAGE OF MARKS	PAPER CREDIT	GRADE OBTAINED	GRADE POINT OBTAINED	HONOUF POINT
MAJOR:							
MARKETING MANAGEMENT - 502	100	60+19	79.00	6	Α	8.0	48.00
FINANCIAL MANAGEMENT - 503	100	55+17	72.00	6	Α	8.0	48.00
REGULATORY FRAMEWORK OF BUSINESS -I -	100	55+16	71.00	6	А	8.0	48,00
504 FINANCIAL STATEMENT ANALYSIS - 505	100	40+20	60.00	6	B+	7.0	42.00
MAJOR TOTAL : SGPA :				24			186 7.75
GENERAL: BUSINESS ENVIRONMENT - 501	100	38+14	52.00	6	В	6.0	36.00
GENERAL TOTAL:				6	_		36 6.00
SGPA:							

RESULT ->

PASS

Sd/-Controller / Dy Controller of Examination

Since this is a system generated Marksheet, signature is not required. The Marksheet may be verified in the website www.guportal.in.





GOPINATII BARDOLOI NAGAR, GUWAHATI - 781014, ASSAM : INDIA

B.COM (MAJOR) FIFTH SEMESTER EXAMINATION - 2020

GRADE SHEET

(ABSOLUTE GRADING)

07-10-2021

MAHIRUDDIN AHMED

Roll No. UC-181-248-0043

KHARUPETIA COLLEGE

B.COM (MAJOR) 5th SEMESTER EXAM. - 2020

JUNE, 2021

SUBJECT(S) OFFERED	TOTAL MARKS	MARKS OBTAINED EXT+INT	PERCENTAGE OF MARKS	PAPER CREDIT	GRADE OBTAINED	GRADE POINT OBTAINED	POINT
MAJOR:							
MARKETING MANAGEMENT - 502	100	60+19	79.00	6	Α	8.0	48.00
FINANCIAL MANAGEMENT - 503	100	58+13	71.00	6	Α	8.0	48.00
REGULATORY FRAMEWORK OF BUSINESS -I - 504	100	50+15	65.00	-6	B+	7.0	42.00
CUSTOMER RELATIONS & RETAIL TRADE MNGT - 505	100	52+19	71.00	6	Α	0.8	48.00
MAJOR TOTAL:				24			186
SGPA:							7.75
GENERAL:							
BUSINESS ENVIRONMENT - 501	100	35+10	45.00	6	С	5.0	30.00
GENERAL TOTAL:				6			30
SGPA:							5.00

RESULT -->

PASS

Controller / Dy Controller of Examination

Since this is a system generated Marksheet, signature is not required. The Marksheet may be verified in the website www.guportal.in.







UNIVERSITY

GOPINATII BARDOLOI NAGAR, GUWAHATI - 781014, ASSAM : INDIA

B.COM (MAJOR) FIFTH SEMESTER EXAMINATION - 2020

GRADE SHEET

(ABSOLUTE GRADING)

Date 07-10-2021

MUBARAK ALI

UC-181-248-0056

KHARUPETIA COLLEGE

B.COM (MAJOR) 5th SEMESTER EXAM. - 2020

JUNE, 2021

SUBJECT(S) OFFERED	TOTAL MARKS	MARKS OBTAINED EXT+INT	PERCENTAGE OF MARKS	PAPER CREDIT	GRADE OBTAINED	GRADE POINT OBTAINED	HONOUR POINT
MAJOR:							
MARKETING MANAGEMENT - 502	100	48+15	63.00	6	B+	7.0	42.00
FINANCIAL MANAGEMENT - 503	100	60+18	78.00	6	A	8.0	48.00
REGULATORY FRAMEWORK OF BUSINESS -I - 504	100	58+15	73.00	6	Α	8.0	48.00
CUSTOMER RELATIONS & RETAIL TRADE MNGT - 505	100	49+17	66.00	6	B+	7.0	42.00
MAJOR TOTAL : SGPA : GENERAL :				24			180 7.50
BUSINESS ENVIRONMENT - 501	100	50+10	60.00	6	B+	7.0	42.00
GENERAL TOTAL: SGPA:		-		6			42 7.00°

RESULT -> PASS

Controller / Dy Controller of Examination

Since this is a system generated Marksheet, signature is not required. The Marksheet may be verified in the website www.guportal.in.

Kharnbelia Collect

Ī









Date: 05-09-2022

GOPINATH BARDOLOI NAGAR, GUWAHATI - 781014, ASSAM : INDIA B.COM (HONS) FINAL SEMESTER EXAMINATION - 2022 (Choice Based Credit System)

CONSOLIDATED GRADE SHEET

NAME:	FAIZUR RAHMAN COLLE	COLLEGE: KHARUPETIA COLLEGE	OLLE	GE		
ROLL NO. :	UC-191-248-0035 Re	Registration No.: 19080472	172			
			DG	CO	GP	CP
SEMESIER-I	PAPERS OFFERED			0	7	28
	BUSINESS COMMUNICATION(ASSAMESE) - BCMA-AE-1014		4 0	a a		36
	FINANCIAL ACCOUNTING - COM-HC-1016		0	2	u	30
	BUSINESS LAW - COM-HC-1026		٥	، د	0	3 6
	MICRO ECONOMICS - COM-HG-1016		9	0	0	3
	SGPA: 5.64	SEMESTER TOTAL	22			124
SEMESTER-2	PAPERS OFFERED		S	9	GP	CP
	CORPORATE ACCOUNTING - COM-HC-2016		9	۵	9	36
	CORPORATE LAWS - COM-HC-2026		9	O	2	30
	MACRO ECONOMICS - COM-HG-2016		9	O	S	30
	ENVIRONMENTAL STUDIES - ENV-AE-2014		4	å	7	23
	4 4 4 5 6 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	SEMESTER TOTAL	22			124
CONTOTAG	DANDERS OFFERED		S	9	GP	CP
SEMESTERS	TATENCE OF ENERGY IN DISINESS - COMPICATIONS		9	A•	6	22
	COMPUTER APPLICATIONS IN DOSINGES - COMPUTER		9	0	10	09
	INCOMETRY DOINGE ES AND ADDITIONS - COM-HC-3036		9	A.	o	72
	MANAGEMENT PRINCIPLES AND A LICENSES		9	÷	7	42
	ENTREDENIES STATISTICS COMPANY OF THE PROPERTY		4	¥.	6	36
	SCDA - 879	SEMESTER TOTAL	28			246
			2	9	G	CP
DEMESTER #	STATE OF THE POST		9	0	10	9
	DISINGS MATHEMATICS COM-HC-4026		9	¥	6	2
	LIMINAN DESCRIPCE MANAGEMENT - COMHOLO36		9	0	10	09
	INDIAN ECONOMY - COM-HG-4016		9	¥+	6	54
	E-COMMERCE - COM-SEC-4014		4	0	10	40
	SGPA:9.57	SEMESTER TOTAL	28			263
SEMESTER-5	PAPERS OFFERED		PC	9	GP	S
	PRINCIPLES OF MARKETING - COM-HC-5016		9	മ	9	36
	FUNDAMENTALS OF FINANCIAL MANAGEMENT - COM-HC-5026		9	å	7	42
	MANAGEMENT ACCOUNTING - COM-HE-5016		9	æ	9	36
	INDIAN FINANCIAL SYSTEM - COM-HE-5066		9	ပ	2	30
	SGPA: 6.00	SEMESTER TOTAL	24			1
SEMESTER-6	PAPERS OFFERED		PC	8	G	ဌ
	ALIDITING AND CORPORATE GOVERNANCE - COM-HC-6016		9	÷	7	42
	INDIRECT TAX LAWS - COM-HC-6026		9	O	2	30
	INDUSTRIAL RELATIONS AND LABOUR LAWS - COM-HE-6056		9	å	7	42
	BUSINESS RESEARCH METHODS AND PROJECT WORK - COM-HE-6066	9909-	9	4	00	44.00
	SGPA: 6.75	SEMESTER TOTAL	24			162
						0000

HOD, Commerce Kharupelia College

GAUHATI



UNIVERSIT

GOPINATH BARDOLOI NAGAR, GUWAHATI - 781814, ASSAM : INDIA

B.COM (MAJOR) FIFTH SEMESTER EXAMINATION - 2020

GRADE SHEET

(ABSOLUTE GRADING)

07-10-2021

HAMIDUR RAHMAN

UC-181-248-0027

KHARUPETIA COLLEGE

B.COM (MAJOR) 5th SEMESTER EXAM. - 2020

JUNE, 2021

SURJECT(S) OFFERED	TOTAL MARKS	MARKS OBTAINED EXT+INT	OF MARKS	CREDIT	GRADE OBTAINED	GRADE POINT OBTAINED	POINT
MAJOR:							
MARKETING MANAGEMENT - 502	100	59+19	78.00	6	۸	0.0	48.00
FINANCIAL MANAGEMENT - 503	100	50+16	66.00	6	B)	7.0	42.00
REGULATORY FRAMEWORK OF BUSINESS 4 - 804	100	52+14	66.00	6	B+	7.0	42.00
FINANCIAL STATEMENT ANALYSIS - 505	100	45+20	65.00	6	B+	7.0	42.00
MAJOR TOTAL : SGPA : GENERAL :				24			174 7,25
BUSINESS ENVIRONMENT - 501	100	38+15	53.00	6	0	6.0	36.00
GENERAL TOTAL: SGPA:				a			36 6.00

RESULT ->

PASS

Controller / Dy Controller of Examination

Since this is a system generated Marksheet, signature is not required. The Marksheet may be verified in the website www.guportal.in.



B.COM (MAJOR) FIFTH SEMESTER EXAMINATION - 2020

GRADE SHEET

(ABSOLUTE GRADING)

Onle: 07-10-2021

IMRADUL HOQUE

UC-181-248-0030

KHARUPETIA COLLEGE

B.COM (MAJOR) 5th SEMESTER EXAM. - 2020

JUNE, 2021

SUBJECT(S) OFFERED	TOTAL MARKS	MARKS OBTAINED EXT+INT	PERCENTAGE OF MARKS	PAPER CREDIT	GRADE OBTAINED	GRADE POINT OBTAINED	HONOUR POINT
MAJOR:							
MARKETING MANAGEMENT - 502	100	59+20	79.00	6	Α	0.8	48.00
FINANCIAL MANAGEMENT - 503	100	58+17	75.00	6	Α	8.0	48.00
REGULATORY FRAMEWORK OF BUSINESS 4 - 504	100	55+16	71.00	6	Α	0.8	48.00
FINANCIAL STATEMENT ANALYSIS - 505	100	48+20	68.00	6	B+	7.0	42.00
MAJOR TOTAL : SGPA :				24			186 7.75
GENERAL:							
BUSINESS ENVIRONMENT - 501	100	45+14	59.00	6	В	6.0	36.00
GENERAL TOTAL: SGPA:				6			36 6.00

RESULT -->

PASS

Controller / Dy Controller of Examination

Note: Since this is a system generated Marksheet, signature is not required. The Marksheet may be verified in the website www.guportal.in.

Kusinberis Collede Buvolbsy

Kysunbelis College HOD' Cowwelce